2 3 {
Ic2 S
n
ACG$1 = o3 8 vin  vout { > N
BF BF 78L05SMD ) T
é‘C8 é‘C1 __C3 GND C5 C6 C4
ACG$2
02 pa | T220032200] 1000 —N["[EN] “1100n] 100n ] 10u
GND L pr F 1
GND
ACG$3 S5 3
oo o
P$18
e o K+ B8 1Gse
gS'Kml; gg paTA 82 3 GND1 E ;g
CLK >F > K- 25w KI1G$2
BE1G$1 C;i) P$16 | BEq 0622
BE1G$3 = K2+ P22 1683
BE1G$2 ?!—”PW—’ BE2 2  G&ND2 E25
8 Ki2- 3240 ki1Gsa
BE2G$2 ?E"P“Z BE3 _ %
BE2G$3 Ps13 & O Ks —ﬁ%— KI2G$1
BE2G$1 F- BE4 F enps oo
Ki3- 238 < ki2g$2
330nP$14
GND L i LSGND%% Kid+ B30 o kioGs3
GND Al2 €dq 2onps EZ
IC12F675P N[22 2<0 B ke |PeKi2cs4
VSS 4 CIK ¥
GP3 B - L
—DATA 5| gpp u 5 ":§| > GND
X  R1 GP4/CLKOUT |2~ oo
o opr c2| c7
L¥D1 R2 ; GP5/CLKIN %
LED2 =
\L> IC3 GNDGND GND
GND kS
4_508W_I2
2008.12.18. 11:02:52
Sheet: 1/1
2 3 l 4




